8 7 6 5 4 3 2 1

| |
[TEM NO.JPART NUMBER Rev. DESCRIPTION MATERIAL FlameRafing Color __[QTY.
1 |WP-34B*15 - WP BASE, W/MOUNTING BOSSES POLYCARBONATE|UL94-HB (UL FILE E41613) | LIGHT GRAY| 1
B 2 |WP-34C*15 - WP COVER ONLY, W/GASKET POLYCARBONATE[UL94-HB (UL FILE E41613) [LIGHT GRAY| |
TN CM 3 |SCREWS-SSM4-20-4] - ASSEMBLY SCREWS, 4 PACK 1
V/%%ﬁ% 24 @ @ (/ ) Z I 3. SCREWS-SSM4-20 | - [ M4X0.7 X 20mm OAL, PHILLIPS DRIVE MACHINE SCREW | STAINLESS STEEL 4
L L )4 a4 | 4 4 1 )(\I—I/I/l A | A
4X PCB MOUNTING BOSSES i
WITH BRASS INSERTS ACCEPT 8X PCB MOUNTING BOSSES USE M3
(2.953) A M3X0.5 X 6mm SCREW METRIC OR #4 STD. THREAD FORMING -
WHEN USED WITH A .063 INCH SCREWS X .250 IN LG. WHEN USED =
THICK PCB. (NOT SUPPLIED) WITH A .063 INCH THICK PCB
(2.700) (NOT SUPPLIED) -
(2.510)
(~J
N\ v DETAIL B DETAIL C
= NN 1
SECTION A-A
NN e\ 1 S = ﬁ=%§%%ﬁ%;mf§?§%=ﬁ
:M’ﬁ' N~ I\ =\ & T’I—?%E%E:iiﬁi:‘ffffff ------- = {i-&-/'-::y @ @ (© Q\mi:-:}:
= [T ) a1 = SR e
IR, o ! i i iT= e r{ @y Yy A @Yy
R Al = R Oy
I = | I o Uit = = i
it o N it i
i L o il it
. PR L . il B i
i o) {3y b H- (o (O !
i () \2) il o o i © G
i hi i L o il it
i hi i L o il it . .
i i o . i i VP 3487 15-PCB (REF, ONLY):
il i o . il it PCB TEMPLATE FOR WP-348715
i i o I B i
i i o I B i
i hi i L o il it
i i o I i it
i i wii | | I o Uit fhil
i niin! i I o i i
i i o . Hi i
i i - | i i
i i o I B i
i . 1y B
- i b I it O
i hi i L o il it
i i o I B i
i il (7.862) |1 o i i
i hi i L o il it
i hi i L o il it
i i o I B i
“:m u| | i o i i
i hi i L o i i
i i - | i i
i i o I B i
i hi i L o il it
i hi i L o il it
i hi i L o il it
i hi i L o il it
i u| | i o Ui )
il hi i L o i i
i hi i L o i i
i i - | i i
i e ex i o = i e ey il
Uiy | | 1 | F=A Ui x !
L on s . = O (on i
I = ~~ "~ SN = i L LEZ] i = -~ -~ -~ = I
m\g%ggga\ @ ) {O) {O) Y e | I i e 5= NS «@ «@ ««9 Ae=====)
IO =S = s =/ == =8 4L H===z====3=========mmmom—— +E=37 OEST==N \ \ O == S
m D “7—7\\\ ///,7—\“,-, i i == 4| ' N\ ,’,, ' 1l
- (4.725) -
L e — T
I=T NI =1
I NEHE
i S =]
1l 1 |1l [N 1 h !
[ o heooH
I I IR
o A NOTES:
o b 1. SERVICE TEMPERATURE RANGE: -40°C TO 120°C
o R 2. DESIGNED TO NEMA 1, 2, 4, 4X, 12, 13
o R 3. MOUNTING FLANGE KITS ARE AVAILABLE FROM POLYCAGSE.
Hon R 4. UL LISTED TO UL508-4X SPECIFICATIONS (UL FILE #E194432).
11 1 [ [ 11 [
E E I{H i :'E 5‘: i i” i E UNLESSSOO;HERWISE SPCEC|§|[ED: ] PART NO.
(T s ot s s et s e S 4 e .3 g | DlggﬂéAuc%ﬁ'H:e"JmH;: e | WP-34*15 |
RO T MO Gy ATERIAL POIYCASe
VI - = - ) b R
THENORMATON Contanzo s | FLAME RATING SIZE | Product Assembly Drawing | REV
poLtoRse. n kepropuction i parr | IL94-HB -.01
OR AS A WHOLE WITHOUT THE WRITTEN NAME DATE b
e s e T a0l SCALE: 11 | e} | SHEET1OF

8 7 6 5 ‘T‘ 4 3 ! 2 ! ]




8 7 6 5 ‘L 4 3 | 2 | ]
TOLERANCE CHART
DIMENSION | O | 039 | .118 | 236 | .394| .591 | 866 |1.181|1.575[2.087 | 2.756 | 3.543 | 4.724 | 6.299 | 7.874
RANGE 039 | 118 | 236 | 394 | .591 | 866 |1.181|1.575[2.087 | 2.756 | 3.543 | 4.724 | 6.299 | 7.874 | 9.843
DEJ&%LENT +.007 | +.007 | +.008| +.008 |+.009| +.010| +.011| +.012| +.013| +.015| £.017 | +.020| +.024| +.028 | +.035
= 7.862 = NN L | £.003 | +.004 | +.004| +.004 |+.005| +.006 | +.007 | +.008| +.009| +.011| +.013| +.016 | +.020 | +.024| +.031
~—— 2X 1.654 —=
—— 4X 766 =~
AXRBR.100
6X 464 - /
4X @ 282 - —/4X .586
<O~ ) | | Iy B N o ittt —————————————————————————————————————————————————y Y
- - - - - - N\ \\l -E;==%: __________________ _i ) I/I/ \|\| (
360 N 2 2X .589 g===1 J | 1 Il i
4 | r \\; ! . ———— S CooS=SDDDDooooozDoooorsg-d | N ,¢H A = Hhs==A|
X fi\'ﬂ )z e e 1 | =3 =3 1] e =N |||| =l
= = 1 - - € - i i ol [T RS, HEE A i
N S/Za\ 2 | manit E | = NS \ SO
- ----—-—--————====—m————======= Z== SI=R i
B 4X1.579 | K o
| ! :
' ! i | |
_ | |
LR A ! i
- 7 Q} |-—-=J | |
L_1 : :
— 8X ©.092 ! ! :
| | ! | | | |
— 8X ©.282 ! ! !
r_—l | I
T -3 . '
- - v - - - ] 4.725 — | |
T L i [
| |
| | | | ! |
| |
| |
| |
| |
| |
| |
| | :
| \ ! |
| |
| |
L | |
| |
\ | |
_ _ _ B _ _ | |
| |
| | |
N\ | :
o\ | |
N

4X BRASS INSERT:

M3X0.5

4X PCB MOUNTING BOSSES
WITH BRASS INSERTS ACCEPT
A M3X0.5 X émm SCREW
WHEN USED WITH A .063 INCH
THICK PCB. (NOT SUPPLIED)

N
8X PCB MOUNTING BOSSES USE M3

METRIC OR #4 STD. THREAD FORMING
SCREWS X .250 IN LG. WHEN USED
WITH A .063 INCH THICK PCB

(NOT SUPPLIED)
060 ~={ 4X 315
T L |
L e 4x 39 4X $.313
i i ' !
i HE I
i T - 2
i i Z
1 ([ [l i 2.324
N} [ (] L
I [ [l 1)
I ol [ Nl
ni [ (B i
[} [ [ I
n [ (I Ll [
Il [ [ [N
I 1| [ N
11 1| [ [N
[ [ 1 1
|1l | |'_ A . _|| | { |
s T —
I N A S ] ] ]
~———— 4X .464
= = 4X 064 .
— | 4X 065
+ r 52°TYP.
IV ot
.039 TYP. 135 —
+ SECTION A-A
1 W\ [ ] 8X.190 8X 240
i 7 5% i
4X.135 4X 134 —=f =
4X .190
SECTION B-B
UNLESS OTHERWISE SPECIFIED: PART NO.
e AneUag o | WP-34B*15 Ol -CO Se
TWO PLACE DECIMAL:lz;OSO MATER'AL p
b caurecs 21| POLYCARBONATE e I I s
e miomaon contanzon s | FLAME RATING SIZE | WP BASEé(\/)vS/SAéSOUNTING REV
NOTES SEEL R bt s s -.01
] . COLOR |_|GHT GRAY PERMISSION OF POLYCASE IS PROHIBITED. DRAWN D.M.F. [ 3/2/2011 .
LT RN DME L 320 SCALE: 111 | @< | SHEET1OF T
8 7 6 5 f 4 3 ! 2 ! 1




8 7 1) 4 3 2 1
e T T
il i
L 10 —r
~CS ,">A - _
(70 AN e 77 R\
) - - - 2 '11 O i l
~F + il e
-—:————:i :E,—*,/l /’lll l\l\ H‘\j:
ollls | | /::,’/// \\;:\\ |
5 il (s 2}
. i i
| | :I i Il |:
I 4
i e o i
| | :I i Il |:
= S -———- b i i
- I 4
T i St | Y -~ i
_ _ _ N | _ 1. i h b { N T
U 4725 |01 i ! i
' o i i
| | :I i Il |:
! b i i
X . I 4
| | 1] i
- ] 1
D ] o i
] i i
$ * \’ | : .__I_____Zj: i;ltzf \\\\ 17//: :::;i
*7 1 _ __ _ i | | :: Yol i ::
903 Lo | [H=d i b obosdl
) (S \ - - 17 ] O ©
Vi 4X N . &V o B N NN oo s\’
N J‘ - = 4X .522 — A N\— 4X R.235
—= = 5X.118 4XR.276 ' N '
7.875 8X R.050
SECTION A-A
15 —=f =
. - —{ 09 4f{=—
T —HH ) 035 Vi
h=d | | b=kl | 592 - _ +
o —L i S I ®.310 2X D172
N\ i |
\ - 088 z[\//
\—SILICONE GASKET
DETAIL B stc):E/If\EILQC-: :
SCALE 41 :
4x 086 —n] Lo \ (4 PLCS.)
= = 4X.190 194 TYP. —= |=—
7 2 91.00°
77 T, \ e
SECTION D-D )
o b’\
\ ‘\ > »
-
UNLESS OTHERWISE SPECIFIED: PART NO.
L races acUaR o WP-34C*15
TWO PLACE DEC\MAL:.z;OSO MATER'AL
"Faneo crarcs o0 POLYCARBONATE ECIRTLIG P ot o i
. THE NFORMATION CONTANED I THiS WP COVER ONLY,
NOTES: DRAWING IS THE SOLE PROPERTY OF FLAME RATING SIZE W/GASKET REV

1. COLOR: LIGHT GRAY

POLYCASE. ANY REPRODUCTION IN PART UL94-HB (UL FILE E416] 3) C

OR AS A WHOLE WITHOUT THE WRITTEN NAME DATE
PERMISSION OF POLYCASE IS PROHIBITED. DRAWN D.M.F. | 3/2/2011 SCALE: 11
REVISIONS CAD FILE: WP-34C+15 CHECKED | B.M.B. | 3/9/2011 s

8 7 6 5 4 3 2 1

REV. DESCRIPTION lzoNE| BY |APPRD| DATE

SHEET 1 OF 1




3.748

N N
<t <t
B8 R BB I
N =< — N < NN
OANM N NOANMm M
R e 12X 0.135
: 2.179
1.774
o) ® A X 1.777
N 20X 1.473
| | |
@ 1 ® .784

.784

| _—2X1.473

N

1.774
2X1.777

2.179
4X R.279

8X R.051

L .063

NOTES:

1. INCLUDES .031 CLEARANCE FROM INTERIOR OF WP-34B*15.

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN: INCHES[mm]
TOLERANCES: ANGULAR: #2°
TWO PLACE DECIMAL: +.010
THREE PLACE DECIMAL: +.005
PRINTED GRAPHICS: +.010

PART NO.

WP-34B*15-PCB

PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
POLYCASE. ANY REPRODUCTION IN PART

MATERIAL

I } 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 U.S.A.

PH#: 1-800-248-1233, 440-934-0444 FAXH: 440-934-0088

FLAME RATING

SIZE

PCB TEMPLATE

REV

1

OR AS A WHOLE WITHOUT THE WRITTEN S‘/:/A\/‘E 3/2//“\225)] ]
PERMISSION OF POLYCASE IS PROHIBITED. |  DRAWN M.F. .
CAD FILE: WP-34B+15-PCB CHECKED | B.M.B. [ 3/10/2011 SCALE: 1:1 | @G | SHEET 1 OF 1
I I
3 2



Enable 3D View




	Sheet1
	Drawing View1
	Section View A-A
	Drawing View4
	Drawing View6
	Drawing View11
	Drawing View12
	Detail View B (1 : 1)
	Detail View C (1 : 1)

	WP-34B+15.PDF
	Sheet1
	Drawing View1
	Drawing View4
	Section View A-A
	Drawing View7
	Section View B-B
	Drawing View9
	Drawing View10


	WP-34C+15.PDF
	Sheet1
	Drawing View1
	Section View A-A
	Detail View B (4 : 1)
	Detail View C (2 : 1)
	Drawing View5
	Drawing View6
	Section View D-D
	Drawing View8
	Drawing View9
	Drawing View10


	WP-34B+15-PCB.PDF
	Sheet1
	Drawing View3
	Drawing View4
	Drawing View5


	WP-34+15.PDF
	Sheet1
	Drawing View1
	Section View A-A
	Drawing View4
	Drawing View6
	Drawing View11
	Drawing View12
	Detail View B (1 : 1)
	Detail View C (1 : 1)


	WP-34B+15.PDF
	Sheet1
	Drawing View1
	Drawing View4
	Section View A-A
	Drawing View7
	Section View B-B
	Drawing View9
	Drawing View10


	WP-34B+15-PCB.PDF
	Sheet1
	Drawing View3
	Drawing View4
	Drawing View5



